

03/08/2019

Page 1 of 1

Vendor Ranking

E4T35

04190308 Letting: March 08, 2019 10:30 AM Call Order: 003 Contract: District: District 4 Counties: BROWARD Fed Aid No: N/A

Project(s): 42833347201 (*) Contract Time: 730 CALENDAR DAYS

Contract Desc: BROWARD NPDES DRAINAGE- ROUTINE MAINTENANCE

Ran	k Vendor	Bid Type Bid Status	Total Bid Percent Of Low Bid
1	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive Winning bid	\$644,173.25

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED **BEGIN DATE:** 03/26/19 **BEGIN TIME:** 10;30 AM

> END DATE: 03/29/19 END TIME: 10:30 AM





Tabulation of Bids

Page 1 of 6

 Letting:
 04190308
 March 08, 2019
 Call Order:
 003
 Contract:
 E4T35

 District:
 District 4
 Counties:
 BROWARD
 Fed Aid No: N/A

Contract Time: 730 CALENDAR DAYS Project(s): 42833347201 (*)

Contract Descr: BROWARD NPDES DRAINAGE- ROUTINE MAINTENANCE

The work under this Contract consists of providing all materials, equipment, labor and incidentals necessary to perform work on State drainage systems on primary roads within Broward County. Work includes resolving problems relating to the drainage system and providing corrective actions in support of the NPDES program.

MAXIMUM LIMITING CONTRACT:

This contract has a budgetary ceiling of \$900,000. The award amount will be \$450,000. Additional funds may be brought on by Letters of Authorization (Funding Term 7) if needed. The total of all work documents is limited to the budgetary ceiling over the 730 contract calendar days unless amended by Supplemental Agreement.

The initial contract bond will be based on \$450,000 and subsequent bonds will be based on the estimated annual amount of work thereafter in accordance with the contract documents.

The 2020 Award portion of this contract is contingent upon Annual Legislative Budget Approval of Fiscal Year 2020 Funds.

PERFORMANCE BOND: A Contract / Performance bond is required for this project.

Line No / Item ID Alternate Item Description	Quantity Units	(1) ROGAR MAN CONSULTING (OF FLORIDA				
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 R	EPAIR/REPL	ACE STRM-SIDE-C	ROSS DRAIN(LI	-)			
0005 0120 2 2 BORROW EXCAVATION, TRUCK MEASURE	200.000 CY	30.54000	6,108.00				
0010 0120 4 SUBSOIL EXCAVATION	100.000 CY	74.69000	7,469.00				
0015 0339 1 MISCELLANEOUS ASPHALT PAVEME	200.000 NT TN	50.00000	10,000.00				
0020 0400 1 2 CONCRETE CLASS I, ENDWALLS	3.000 CY	2,500.00000	7,500.00				
0025 0400 2 2 CONCRETE CLASS II, ENDWALLS	3.000 CY	2,500.00000	7,500.00				



Page 2 of 6

Florida Department of Transportation



Tabulation of Bids

Letting:	04190308	March 08, 2019) Call (Order: 003		Contract:	E4T35	
	/ Item ID Altern	ate Quantity Units	(1) ROGAR MANA CONSULTING O					
() indicate	es item is bid as Lump Su		Unit Price LLC	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
S	ECTION: 0001	REPAIR/REPLA	ACE STRM-SIDE-CR	OSS DRAIN(LI	=)			
0030 04 INLETS, AD	25 4 JUST	100.000 EA	825.00000	82,500.00				
0035 04 MANHOLE,	25 5 ADJUST	100.000 EA	800.00000	80,000.00				
0040 04 REPLACE (25 82 GRATE	100.000 EA	295.00000	29,500.00				
	30 94 1 PIPE, 0 - 24"	1,000.000 LF	4.00000	4,000.00				
	30 94 2 PIPE, 25 - 36"	500.000 LF	6.00000	3,000.00				
	30 94 3 PIPE, 37 - 48"	250.000 LF	9.00000	2,250.00				
	30 94 4 PIPE, 49 - 60"	250.000 LF	15.00000	3,750.00				
	30 94 5 PIPE, 61" OR GREAT	250.000 ER LF	20.00000	5,000.00				
	33 1 GROUT REPAIR, MAN	5.000 NHOLE / EA	1,800.00000	9,000.00				





Tabulation of Bids

Page 3 of 6

Letting:	04190308	March 08, 2019	Cal	l Order: 003		Contract:	E4T35	
Line No / Item ID Alternate Item Description		Quantity Units	(1) ROGAR MANAGEMENT & CONSULTING OF FLORIDA					
() indicate	s item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	ECTION: 0001	REPAIR/REPLA	ACE STRM-SIDE-0	CROSS DRAIN(L	F)			
CLEANING 8	4 4 1 SEALING RANDOM EXISTING CONCRETE EMENT	100.000 LF	44.00000	4,400.00				
0080 053 RIPRAP, SAI	0 1 ND-CEMENT	125.000 CY	971.00000	121,375.00				
PLASTIC ER	1 111 OSION MAT, TURF D MAT, TYPE 1	50.000 SY	30.00000	1,500.00				
	01 72 ON (EMERGENCY)	25.000 EA	0.01000	0.25				
	10 2 & GRUBBING	9.000 AC	3,400.00000	30,600.00				
0100 E11 LITTER REM	10 30 10VAL	9.000 AC	100.00000	900.00				
	20 10 1 RESHAPE DITCH	500.000 LF	18.11000	9,055.00				
	20 10 2 RESHAPE DITCH (HA	500.000 UL) LF	18.11000	9,055.00				





Tabulation of Bids

Page 4 of 6

Letting	j : 04	4190308 N	/larch 08, 2019	Call	Order: 003		Contract:	E4T35	
	No / Item ID Description	Alternate	Quantity Units	(1) ROGAR MAN CONSULTING O	F FLORIDA				
() ind	licates item is bi	d as Lump Sum		Unit Price LLC	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	REPAIR/REPLA	CE STRM-SIDE-CI	ROSS DRAIN(LF	-)			
0115 CLEANII (MECHA		ES AND INLETS	250.000 EA	100.00000	25,000.00				
0120 REPAIR INLETS	E425 73 2 LEAKS IN MA	ANHOLES AND	25.000 EA	411.00000	10,275.00				
0125 RESET I	E425 73 4 EXISTING FR	AME AND GRA	100.000 ГЕ ЕА	150.00000	15,000.00				
0130 CLEANII (MANUA		ES AND INLETS	100.000 EA	411.00000	41,100.00				
0135 SECURE	E425 73 6 E MANHOLE /	INLET LIDS	100.000 EA	491.00000	49,100.00				
		PECTION (VIDE	1,350.000 D LF	3.00000	4,050.00				
0145 CONCRI	E524 1 1 ETE DITCH P	AVEMENT REP	20.000 AIR CY	861.00000	17,220.00				
0150 WATER	E570 9 1 FOR GRASS	& PLANTS	50.000 MG	0.01000	0.50				
0155 SODDIN	E575 1 IG		8,550.000 SY	2.00000	17,100.00				



03/08/2019

Tabulation of Bids

Page 5 of 6

Letting:	04190308	March 08, 2019	9 Call	Order: 003		Contract:	E4T35	
Line No / Item I	- Guaritity		CONSULTING O	(1) ROGAR MANAGEMENT & CONSULTING OF FLORIDA				
() indicates item i	s bid as Lump Sun	m	Unit Price LLC	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	N: 0001	REPAIR/REPLA	ACE STRM-SIDE-C	ROSS DRAIN(L	F)			
0160 E577 70 SHOULDER REWO	DRK	8,550.000 SY	3.61000	30,865.50				
0001 REPAIR/RE SIDE-CRO	PLACE STRM- SS DRAIN(LF)	Section Totals:		\$644,173.25				

Contract Grand Totals:

\$644,173.25



03/08/2019

Tabulation of Bids

Page 6 of 6

Letting: 04190308 March 08, 2019 **Call Order:** 003

Contract: E4T35

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.